

prevention - protection - enforcement

# County Distribution Detail Report through 01/03/2025

#### Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	748	2,218	632	3,598	\$7,196.00	\$144.54	\$7,051.46	0.70	\$4,936.02
							Entity 1	otal:	\$4,936.02
							Adjustr	nent:	\$0.00
							Total A	mount:	\$4,936.02

#### Beadle

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2024	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
11/2024	673	11,767	2,401	14,841	\$29,682.00	\$615.27	\$29,066.73	0.70	\$20,346.71
12/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2021	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2022	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2023	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
							Entity	Fotal:	\$20,364.22
							Adjusti	ment:	\$0.00
							Total A	mount:	\$20,364.22
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	795	1,295	2	2,092	\$4,184.00	\$92.27	\$4,091.73	0.70	\$2,864.21
							Entity 1	Fotal:	\$2,864.21
							Adjusti	ment:	\$0.00
							Total A	mount:	\$2,864.21
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,348	4,459	75	5,882	\$11,764.00	\$236.04	\$11,527.96	0.70	\$8,069.57

							Entity Total: Adjustment: Total Amount:		\$8,069.57 \$0.00 \$8,069.57
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	15	0	15	\$30.00	\$0.00	\$30.00	0.70	\$21.00
9/2024	0	18	0	18	\$36.00	\$0.00	\$36.00	0.70	\$25.20
11/2024	8,247	24,630	1,091	33,968	\$67,936.00	\$1,440.71	\$66,495.29	0.70	\$46,546.70
12/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2021	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2022	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2023	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity	Fotal:	\$46,597.29
							Adjusti	ment:	\$0.00
							Total A	mount:	\$46,597.29
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	3,860	29,710	3,687	37,257	\$74,514.00	\$1,564.02	\$72,949.98	0.70	\$51,064.99
12/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2021	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2023	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity	Fotal:	\$51,072.18
							Adjusti	ment:	\$0.00
							Total A	mount:	\$51,072.18
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,919	4,109	157	6,185	\$12,370.00	\$249.33	\$12,120.67	0.70	\$8,484.47
							Entity 1	Fotal:	\$8,484.47

Adjustment: \$0.00

Total Amount: \$8,484.47

## Buffalo

11/2024

Buffalo										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
11/2024	517	514	1	1,032	\$2,064.00	\$41.28	\$2,022.72	0.70	\$1,415.90	
							Entity	Fotal:	\$1,415.90	
							Adjust	ment:	\$0.00	
							Total A	mount:	\$1,415.90	
Butte										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40	
11/2024	1,178	7,449	545	9,172	\$18,344.00	\$385.03	\$17,958.97	0.70	\$12,571.28	
							Entity	Fotal:	\$12,572.68	
							Adjust	ment:	\$0.00	
							Total A	mount:	\$12,572.68	
Campbell										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
11/2024	516	1,421	15	1,952	\$3,904.00	\$80.93	\$3,823.07	0.70	\$2,676.15	
							Entity <sup>-</sup>	Fotal:	\$2,676.15	
							Adjust	ment:	\$0.00	
							Total A	mount:	\$2,676.15	
Charles Mix										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
11/2024	2,008	5,959	19	7,986	\$15,972.00	\$322.37	\$15,649.63	0.70	\$10,954.74	
							Entity	Fotal:	\$10,954.74	
							Adjust	ment:	\$0.00	
							Total A	mount:	\$10,954.74	
City of Box Elder, M	eade Co									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	

2,974

62

3,038

\$6,076.00

\$121.86

\$5,954.14

0.70

\$4,167.90

2

City of North Sioux (	City, Uni						Entity <sup>-</sup> Adjusti Total A		\$4,167.90 \$0.00 \$4,167.90
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	429	3,539	103	4,071	\$8,142.00	\$181.05	\$7,960.95	0.70	\$5,572.67
							Entity	Total:	\$5,572.67
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,572.67
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	133	12,184	2,943	15,260	\$30,520.00	\$616.01	\$29,903.99	0.70	\$20,932.79
							Entity <sup>-</sup>	Total:	\$20,932.79
							Adjust	ment:	\$0.00
							Total A	mount:	\$20,932.79
City of Sioux Falls, I	Lincoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	42	0	42	\$84.00	\$0.00	\$84.00	0.70	\$58.80
9/2024	0	39	0	39	\$78.00	\$0.00	\$78.00	0.70	\$54.60
11/2024	644	35,228	7,381	43,253	\$86,506.00	\$1,792.03	\$84,713.97	0.70	\$59,299.78
							Entity	Total:	\$59,413.18
							Adjust	ment:	\$0.00
							Total A	mount:	\$59,413.18
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	914	2,632	91	3,637	\$7,274.00	\$154.85	\$7,119.15	0.70	\$4,983.41
							Entity	Total:	\$4,983.41
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,983.41

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
8/2024	0	10	0	10	\$20.00	\$0.00	\$20.00	0.70	\$14.00	
9/2024	0	11	0	11	\$22.00	\$0.00	\$22.00	0.70	\$15.40	
11/2024	318	8,316	1,199	9,833	\$19,666.00	\$412.56	\$19,253.44	0.70	\$13,477.41	
12/2020	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50	
							Entity 1	ſotal:	\$13,510.31	
							Adjusti	nent:	\$0.00	
							Total A	mount:	\$13,510.31	
Codington										

# Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	2	0	2	\$4.00	\$0.00	\$4.00	0.70	\$2.80
9/2024	0	2	0	2	\$4.00	\$0.00	\$4.00	0.70	\$2.80
11/2024	2,150	21,477	3,422	27,049	\$54,098.00	\$1,147.67	\$52,950.33	0.70	\$37,065.23
							Entity 1	Fotal:	\$37,070.83
							Adjusti	ment:	\$0.00
							Total A	mount:	\$37,070.83
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	428	1,105	696	2,229	\$4,458.00	\$90.35	\$4,367.65	0.70	\$3,057.36
							Entity 7	Fotal:	\$3,057.36
							Adjusti	ment:	\$0.00
							Total A	mount:	\$3,057.36
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	2,593	7,043	52	9,688	\$19,376.00	\$422.63	\$18,953.37	0.70	\$13,267.36
							Entity 1	Fotal:	\$13,267.36
							Adjusti	ment:	\$0.00
							Total A	mount:	\$13,267.36
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

11/2024	2,212	15,814	1,778	19,804	\$39,608.00	\$827.35	\$38,780.65	0.70	\$27,146.46
12/2020	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2021	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2023	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity 1	ſotal:	\$27,149.10
							Adjustr	nent:	\$0.00
							Total A	mount:	\$27,149.10
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,310	3,959	225	5,494	\$10,988.00	\$223.26	\$10,764.74	0.70	\$7,535.32
							Entity 1	fotal:	\$7,535.32
							Adjustr	ment:	\$0.00
							Total A	mount:	\$7,535.32
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,165	3,314	130	4,609	\$9,218.00	\$189.88	\$9,028.12	0.70	\$6,319.68
							Entity 1	fotal:	\$6,319.68
							Adjustr	ment:	\$0.00
							Total A	mount:	\$6,319.68
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	931	2,330	6	3,267	\$6,534.00	\$131.29	\$6,402.71	0.70	\$4,481.90
							Entity 1	ſotal:	\$4,481.90
							Adjustr	ment:	\$0.00
							Total A	mount:	\$4,481.90
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	786	3,238	159	4,183	\$8,366.00	\$169.02	\$8,196.98	0.70	\$5,737.89
							Entity 1	ſotal:	\$5,737.89
							Adjustr	ment:	\$0.00

Total Amount: \$5,737.89

## Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	2,369	5,417	20	7,806	\$15,612.00	\$322.57	\$15,289.43	0.70	\$10,702.60
							Entity <sup>-</sup>	Total:	\$10,702.60
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,702.60
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	563	1,724	47	2,334	\$4,668.00	\$93.92	\$4,574.08	0.70	\$3,201.86
							Entity	Total:	\$3,201.86
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,201.86
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	922	5,891	651	7,464	\$14,928.00	\$331.24	\$14,596.76	0.70	\$10,217.73
							Entity	Total:	\$10,217.73
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,217.73
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,394	3,674	8	5,076	\$10,152.00	\$232.07	\$9,919.93	0.70	\$6,943.95
							Entity	Total:	\$6,943.95
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,943.95
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	820	1,397	2	2,219	\$4,438.00	\$88.81	\$4,349.19	0.70	\$3,044.43
							Entity	Total:	\$3,044.43

							Adjust	ment:	\$0.00
							Total A	mount:	\$3,044.43
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,113	4,490	119	5,722	\$11,444.00	\$231.11	\$11,212.89	0.70	\$7,849.02
							Entity	Total:	\$7,849.02
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,849.02
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	465	2,801	466	3,732	\$7,464.00	\$153.07	\$7,310.93	0.70	\$5,117.65
							Entity	Total:	\$5,117.65
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,117.65
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	582	3,304	100	3,986 1	\$7,972.00	\$168.94 \$0.00	\$7,803.06 \$1.25	0.70	\$5,462.14
12/2022 12/2023	0 0	1	0 0	1	\$1.25 \$1.25	\$0.00 \$0.00	\$1.25 \$1.25	0.70 0.70	\$0.88 \$0.88
					••••••				
							Entity		\$5,466.70
							Adjust		\$0.00
Harding							i otal A	mount:	\$5,466.70
-									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	556	870	1	1,427	\$2,854.00	\$65.59	\$2,788.41	0.70	\$1,951.89
							Entity	Total:	\$1,951.89
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,951.89

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	372	3,374	200	3,946	\$7,892.00	\$187.33	\$7,704.67	0.70	\$5,393.27
							Entity <sup>-</sup>	Fotal:	\$5,393.27
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,393.27
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	2,120	5,585	34	7,739	\$15,478.00	\$312.84	\$15,165.16	0.70	\$10,615.61
							Entity	Fotal:	\$10,618.41
							Adjust	ment:	\$0.00
							Total A	mount:	\$10,618.41
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	523	1,027	11	1,561	\$3,122.00	\$62.88	\$3,059.12	0.70	\$2,141.38
							Entity	Fotal:	\$2,141.38
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,141.38
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	508	962	8	1,478	\$2,956.00	\$59.34	\$2,896.66	0.70	\$2,027.66
							Entity	Fotal:	\$2,027.66
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,027.66
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	627	1,427	17	2,071	\$4,142.00	\$82.99	\$4,059.01	0.70	\$2,841.31
									** * * * *

\$2,841.31

Jones							Adjust Total A	ment: .mount:	\$0.00 \$2,841.31
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	400	751	4	1,155	\$2,310.00	\$46.20	\$2,263.80	0.70	\$1,584.66
							Entity <sup>-</sup>	Fotal:	\$1,584.66
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,584.66
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	561	4,017	421	4,999	\$9,998.00	\$216.12	\$9,781.88	0.70	\$6,847.32
							Entity	Fotal:	\$6,847.32
							Adjust	ment:	\$0.00
							Total A	mount:	\$6,847.32
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,195	9,798	1,112	12,105	\$24,210.00	\$533.54	\$23,676.46	0.70	\$16,573.52
							Entity	Fotal:	\$16,573.52
							Adjust	ment:	\$0.00
							Total A	mount:	\$16,573.52
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	3,071	20,318	2,680	26,069	\$52,138.00	\$1,098.95	\$51,039.05	0.70	\$35,727.34
							Entity	Fotal:	\$35,728.74
							Adjust	ment:	\$0.00
							Total A	mount:	\$35,728.74
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40

9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
10/2024	0	3	0	3	\$6.00	\$0.00	\$6.00	0.70	\$4.20
11/2024	1,432	28,846	4,021	34,299	\$68,598.00	\$1,509.17	\$67,088.83	0.70	\$46,962.18
							Entity <sup>-</sup>	Fotal:	\$46,969.18
							Adjust		\$0.00
							-	mount:	\$46,969.18
Lyman									• • • • • •
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	960	1,963	356	3,279	\$6,558.00	\$131.79	\$6,426.21	0.70	\$4,498.35
							Entity	Fotal:	\$4,498.35
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,498.35
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,142	3,338	155	4,635	\$9,270.00	\$198.63	\$9,071.37	0.70	\$6,349.96
							Entity	Fotal:	\$6,349.96
							Entity <sup>-</sup> Adjusti		\$6,349.96 \$0.00
							Adjust		
McCook							Adjust	ment:	\$0.00
McCook Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Adjust	ment:	\$0.00
	Telecom Lines 1,385	Wireless Lines 4,705	VOIP Lines	Total Lines 6,099	<b>Surcharge</b> \$12,198.00	<b>Admin Fee</b> \$248.84	Adjusti Total A	ment: mount:	\$0.00 \$6,349.96
Reporting Period					_		Adjusti Total A Net Surcharge	ment: mount: Entity Percent 0.70	\$0.00 \$6,349.96 Entity Amount
Reporting Period					_		Adjusti Total A Net Surcharge \$11,949.16	ment: mount: Entity Percent 0.70 Total:	\$0.00 \$6,349.96 Entity Amount \$8,364.41
Reporting Period					_		Adjust Total A Net Surcharge \$11,949.16 Entity T Adjust	ment: mount: Entity Percent 0.70 Total:	\$0.00 \$6,349.96 Entity Amount \$8,364.41 \$8,364.41
Reporting Period					_		Adjust Total A Net Surcharge \$11,949.16 Entity T Adjust	ment: mount: Entity Percent 0.70 Total: ment:	\$0.00 \$6,349.96 Entity Amount \$8,364.41 \$8,364.41 \$0.00
Reporting Period					_		Adjust Total A Net Surcharge \$11,949.16 Entity T Adjust	ment: mount: Entity Percent 0.70 Total: ment:	\$0.00 \$6,349.96 Entity Amount \$8,364.41 \$8,364.41 \$0.00
Reporting Period 11/2024 McPherson	1,385	4,705	9	6,099	\$12,198.00	\$248.84	Adjust Total A Net Surcharge \$11,949.16 Entity Adjust Total A	ment: mount: Entity Percent 0.70 Total: ment: mount:	\$0.00 \$6,349.96 Entity Amount \$8,364.41 \$8,364.41 \$0.00 \$8,364.41
Reporting Period 11/2024 McPherson Reporting Period	1,385 Telecom Lines	4,705 Wireless Lines	9 VOIP Lines	6,099 Total Lines	\$12,198.00 Surcharge	\$248.84 Admin Fee	Adjust Total A Net Surcharge \$11,949.16 Entity Adjust Total A Net Surcharge	ment: mount: Entity Percent 0.70 Total: ment: mount: Entity Percent 0.70	\$0.00 \$6,349.96 Entity Amount \$8,364.41 \$0.00 \$8,364.41 Entity Amount
Reporting Period 11/2024 McPherson Reporting Period	1,385 Telecom Lines	4,705 Wireless Lines	9 VOIP Lines	6,099 Total Lines	\$12,198.00 Surcharge	\$248.84 Admin Fee	Adjust Total A Net Surcharge \$11,949.16 Entity Adjust Total A Net Surcharge \$4,658.01	ment: mount: Entity Percent 0.70 Total: ment: mount: Entity Percent 0.70	\$0.00 \$6,349.96 Entity Amount \$8,364.41 \$0.00 \$8,364.41 Entity Amount \$3,260.61

## Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	1,177	21,209	1,336	23,722	\$47,444.00	\$998.71	\$46,445.29	0.70	\$32,511.70
12/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2021	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity <sup>-</sup>	Fotal:	\$32,518.36
							Adjust	ment:	\$0.00
							Total A	mount:	\$32,518.36
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	480	738	28	1,246	\$2,492.00	\$50.22	\$2,441.78	0.70	\$1,709.25
							Entity <sup>-</sup>	Fotal:	\$1,709.25
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,709.25
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	758	1,798	21	2,577	\$5,154.00	\$104.19	\$5,049.81	0.70	\$3,534.87
							Entity	Fotal:	\$3,534.87
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,534.87
Minnehaha									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
6/2024	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00	
11/2024	10,666	167,301	23,417	201,384	\$402,768.00	\$8,541.02	\$394,226.98	0.70	\$275,958.89	
12/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63	
12/2021	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63	
12/2022	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25	
12/2023	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00	
							Entity 1	lotal.	\$275,983,40	

Entity Total: \$275,983.40 \$0.00

Adjustment:

Total Amount: \$275,983.40

## Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	709	5,224	184	6,117	\$12,234.00	\$266.92	\$11,967.08	0.70	\$8,376.96
							Entity 1	Fotal:	\$8,376.96
							Adjusti	nent:	\$0.00
							Total A	mount:	\$8,376.96
<b>-</b> • •									

## Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	2	0	2	\$4.00	\$0.00	\$4.00	0.70	\$2.80
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	8,513	93,081	11,864	113,458	\$226,916.00	\$4,753.38	\$222,162.62	0.70	\$155,513.83
12/2020	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2021	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2022	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity 1	Fotal:	\$155,525.91
							Adjustr	ment:	\$0.00
							Total A	mount:	\$155,525.91

## Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,427	2,361	5	3,793	\$7,586.00	\$161.61	\$7,424.39	0.70	\$5,197.07
							Entity 1	ſotal:	\$5,197.07
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,197.07

#### Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	815	1,990	7	2,812	\$5,624.00	\$113.11	\$5,510.89	0.70	\$3,857.62
							Entity 1	Fotal:	\$3,860.42

Adjustment: \$0.00

Total Amount: \$3,860.42

#### Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	2,561	5,728	41	8,330	\$16,660.00	\$357.78	\$16,302.22	0.70	\$11,411.55
							Entity	Fotal:	\$11,411.55
							Adjusti	ment:	\$0.00
							Total A	mount:	\$11,411.55
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	599	1,932	13	2,544	\$5,088.00	\$103.85	\$4,984.15	0.70	\$3,488.91
							Entity	Fotal:	\$3,488.91
							Adjusti	ment:	\$0.00
							Total A	mount:	\$3,488.91
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	923	4,917	539	6,379	\$12,758.00	\$263.41	\$12,494.59	0.70	\$8,746.21
							Entity	Fotal:	\$8,746.21
							Adjusti	ment:	\$0.00
							Total A	mount:	\$8,746.21
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	127	2,509	472	3,108	\$6,216.00	\$129.19	\$6,086.81	0.70	\$4,260.77
							Entity	Fotal:	\$4,260.77
							Adjusti	ment:	\$0.00
							Total A	mount:	\$4,260.77
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	500	1,318	5	1,823	\$3,646.00	\$75.09	\$3,570.91	0.70	\$2,499.64

Entity Total: \$2,499.64

							Adjust	ment:	\$0.00
							Total A	mount:	\$2,499.64
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	0	59	3	62	\$124.00	\$12.66	\$111.34	0.70	\$77.94
							Entity	Total:	\$77.94
							Adjust	ment:	\$0.00
							Total A	mount:	\$77.94
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,833	4,185	11	6,029	\$12,058.00	\$245.59	\$11,812.41	0.70	\$8,268.69
							Entity	Total:	\$8,268.69
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,268.69
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2024	1,308	6,995	78	8,381	\$16,762.00	\$338.06	\$16,423.94	0.70	\$11,496.76
							Entity	Total:	\$11,496.76
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,496.76
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2024	0	2	0	2	\$4.00	\$0.00	\$4.00	0.70	\$2.80
9/2024	0	2	0	2	\$4.00	\$0.00	\$4.00	0.70	\$2.80
11/2024	1,648	12,055	599	14,302	\$28,604.00	\$698.04	\$27,905.96	0.70	\$19,534.17
							Entity <sup>-</sup>	Total:	\$19,539.77
							Adjust	ment:	\$0.00
							Total A	mount:	\$19,539.77
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

11/2024	1,134	3,900	521	5,555	\$11,110.00	\$225.85	\$10,884.15	0.70	\$7,618.91
							Entity <sup>-</sup>	Total:	\$7,618.91
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,618.91
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	0	1	0	1	\$2.00	\$0.00	\$2.00	0.70	\$1.40
11/2024	1,533	19,294	2,296	23,123	\$46,246.00	\$984.44	\$45,261.56	0.70	\$31,683.09
							Entity <sup>-</sup>	Total:	\$31,684.49
							Adjust	ment:	\$0.00
							Total A	mount:	\$31,684.49
TOTALS	96,346	690,848	78,761	865,955	\$1,731,848.50	\$36,560.65	\$1,695,287.85		